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ΑΠΑΝΤΗΣΕΙΣ 

 
ΘΕΜΑ Α Α1. ΘΕΩΡΙΑ 
 
Α2. α) ΘΕΩΡΙΑ 
 
β) ΘΕΩΡΙΑ 
 
Α3.  α) Σ 
β) Λ 
γ) Σ 
δ) Λ 
ε) Σ. 

 
ΘΕΜΑ Β 
Β1. ޿ = ݔߥ߭ߪ ⋅ ݔ߮ߝ + ݔଶߥ߭ߪ + ݔଶߤߟ = ݔߥ߭ߪ ⋅ ఎఓ௫

ఙజఔ௫ + 1 = ݔߤߟ + 1 
  

Β2. ܤ = ݔ߮ߝ ⋅ (ݔ߮ߪ−) + ݔߥ߭ߪ ⋅ ݔߥ߭ߪ = ݔ߮ߝ− ⋅ ݔ߮ߪ + ݔଶߥ߭ߪ = −1 + ݔଶߥ߭ߪ = −(1 − (ݔଶߥ߭ߪ =   ݔଶߤߟ−
Β3. 3(ημx+1)-5=2(-ημ2x)…2ημ2x+3ημx-2=0 
Θέτουμε ημx=ω 
Τότε 2ω2+3ω-2=0 άρα ߱ = ଵ

ଶ ή ω= - 2 

Για ߱ = ଵ
ଶ ⇔ ݔߤߟ = ଵ

ଶ ⇔ ൞
ݔ = ߨߢ2 + గ

଺ή
ݔ = ߨߢ2 + ହగ

଺
ߢ  ∈  ߄

Για ω= - 2ημx= - 2 Αδύνατη. 
 

 
 

 



 

 

ΘΕΜΑ Γ 
Γ1.  
൜(1−)ߏ = −24
(2)ߏ = 0         ⇔ ൜−1 − 6 − ߙ + ߚ = −24

8 − 24 + ߙ2 + ߚ = 0 ⇔ ൜−ߙ + ߚ = −17
ߙ2 + ߚ = 16 … ൜ߙ = ߚ11 = −6 

 
 
Γ2. α) Ρ(x)>0x3-6x2+11x-6>0(x-2)(x2-4x+3)>0 
 
 
x                -       1        2       3      + 
 
x-2                    -        -        +       +  
 
x2-4x+3            +       -         -        + 
 
P(x)                  -        +        -        + 
ݔ  ∈ (1,2) ∪ (3, +∝)  
β) x3-6x2+11x-6=(x2-1)(x-6)+(12x-12) 

 
 
ΘΕΜΑ Δ 
Δ1.  
൜ ݔ > 0log ݔ − 1 ≠ 0 ⇔ ቄ ݔ > ݔ0 ≠ 10 ܣ = (0, 10) ∪ (10, +∝) 

  
Δ2. f(x)=0logx+1=0logx=-1logx=log10-1x= ଵ

ଵ଴. Σημείο τομής ቀ ଵ
ଵ଴ , 0ቁ 

  
Δ3. f(x)2୪୭୥ ௫ା

୪୭୥ ௫ି ≥ 2 ୪୭୥ ௫ୀఠሯልልልሰ ఠାଵ
ఠିଵ ≥ 2 με ω1. 

Άρα  ଷିఠ
ఠିଵ ≥ 0 ⇔ (3 − ߱)(߱ − 1) ≥ 0 

Δηλαδή 1<ω31<log x3log 10<log xlog 100010<x1000. 


